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General Awareness

Who is the CEO of NOKIA?
Ans: Rajeev Suri

Qns. Who is CEO of Mastercard?
Ans: Ajaypal Singh Banga

Qns. Who wrote Sita Warrior?
Ans : Amish Tripathi

Qns. Which country did India defeated in Asia Hockey cup?
Ans : China

Qns. What is the root of 65617?
Ans : 81

Qns. Who’s PH values increases in PH 7 — 14 ?
Ans : OH -ion

Qns. Who is the chairman of federal communications commission of India

Ans: Ajit Pai




Qns . Who won french open 2017 men’s singles?

Ans : Rafael Nadal

Sports - Who won French Open 20177

Asia Cup Hockey - 1 Qs

CEO of Master Card?

Politics - Who won best CM of the year?

History - Who Introduced Din-i-1lahi

CEO of Nokia?

Who won the Booker Prize?

Full form of Pan Card?

Who wrote "Sita The Warrior of Mithila"?

Who of the following was not in the Navaratna?

Governor - 2 Qs

Who was the runner up in under 17 FIFA world cup 2017?
Which Indian gave a tabla performance in the Silk Road Summit?
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Chemistry




Life Science

Earth Science

Computer & Mobile Technology
Nutrition

Diseases

13. Who launches Viral Load test for People Living with HIV/AIDS?J P
Nadda

Math

Age - The Ration between the age of Ram & Radha is 1:2 & the sum of
their ages is 87. Then what is the age of Ram?

What is the unit digit of (2153)*167

Ratio & Proportion - If 18 man takes 12 days to complete a work, working
6 hrs daily, then how many days it will take for 36 men to do the same
work working 3 hrs daily

Square root of 576

What number should we add with 435 to make it a square root.

A s filling a tank in 2 hrs, B is a hole present in the tank. If both A and B
works at the same time then it takes 7/3 hours to fill the tank. If the tank is
full, then how many hours the tank will empty?

Trigonometry - Sin 30+ Cos 30 + (Cos 30/Sin 30) = ?

Sin A+ Cos A =7/5, then Sin A -Cos A =7?

Height = 14, Base =7, Then find the Hypotenuse?

A man can row downstream at the rate of 24 Kmph and upstream at 7
Kmph. Find the man’s rate 1n still water and rate of current? — 15.5 Kmph,
8.5 Kmph

2. A train overtakes two persons who are walking in the same direction in
which the train is going, at the rate of 2 kmph and 4 kmph and passes them




completely in 9 and 10 seconds respectively. The length of the train is: —
50 m

e There were 03 ques from Geometry

A is three times more efficient than B. If they complete a work in 30 days, then
find the times required by each to complete the work individually?

Reasoning

e Statement & Assumption -

e Statement & Conclusion - Some Catis Rat, Some Cat is Monkey.

e Data Sufficiency -

e Number Series -

e Counting of Figure -

e Calendar- If today is Friday. So, what will be the day after 30
days?

e 15th Feb 2018 is Thursday, then what is 15th Feb 2019
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